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Check Drafts, Selvages, and Eow to arrenge Actual Thresding Drafts
for the loom.

T™hree different arrangments of three block petterns ere giver sbove. These are
pattern effects with the key draft for tizese just above eech one,and all ere woven
"as dramwn" here,although they can be woven in many other weys as well., No.I dreft
is or the order of a herringbone drasft, just various arrengments of 1,2,3,2 and repesat,
No.2 2re?t jumps from the first to the third patiern block,or the 3rd to the first,
And No.3 is planned to have the third block separate two figures which ere drawn on
the other two pattern blocks alternately. No.3 is perhgps more apt to be of the tradi-
tionel Colonial type of pattern. Any of these orders mevy be followed when writing the
xey dreft for a three block pattern, vary the size of the units for different petterns.

Actual threading drafts for these petierns are giver on the next page. Figure No.l

(A) Is the simplest way to write the threading draeft. Two threads are used for each
unit of the key draft, and the first three patterz blocks are used namely 1,2,2nd 3;
or 142,243, and 3%4. Note how they over lap each other and that odd numbers of thresds
have been written on the pattern blocks which repeet back on each other, The check
drarft below is written for the purpose of catching any threading =istakes,and aliso

¢to see woere the single one thread skips will occur wher woven. Cczrere the sizes of
the check draft blocks with those on your pattern effect draft,sc as to see whether
they are correct as to their size. In this draft the 1l&4 pattern bdblock has not been
written and does not occur &t all. Figurse No.l (B) is exother way t:is same patiern
raft may be written. Note how the key draft has been changed to show how to incdicate
that the pattern is to be woven "ON OPPOSITZS". Fere the pattern skips from the Tirst
pattern block to the third,and then to the fourth. Note the difference on the check
draft of FPigure No.l(A)and thet of (B) and see where the single do=s come in eech draft.

At Figure No. 2 on the next pege 1s the threading drarft sorNo.JTI.above., This pattern
is also written on the first three pattern blocks,l1%2,2%3, and 344. But the 1&4 block
had to be added where the pattern skipped from the first to the third petternm block
in order to keep the correct tabby elternetion,but this 1l%4 block is not woven at all.

Figure No.3 (A) 1is written using pattern blocks 1,3,and 4;0r 14%2,3%4, and 1&4.N

how the drarft at (A) has two thread blocks on lx4 ;hich come in at nléﬂeg w%e:e :::y

are not supposed to be. To eliminate these write the dreft as at ~igure No.3 (B) with
an extra thread on the third harness or on the second harness as is necesary.

Study the draft at (B) end also note that the 1%4 block has many single dots which
gives a third value in the weaving,in ocontrast to the clear cut blccks where these
single skips do not occur as the 142 and 3%4 pattern blocks alternate when woven.
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?igure No.l (4, Arrenge this far 0 oq
£00 wery s:-reeds set 30 o inch. — e a =
Tw-ead s2lvage 1,2,3,4. -4 ‘ 1L iy
then C to 3 -9

" A to D 1lx 82 -372

" A to S - 11

1e2ft selvage 4,2,2,1. - 4
Total 600

Note that the check draft for

figure No.l (3B} is the same as ' .

at (A),except that the single Fizure No.l !3)

thread skips rppresented by the Tavy Deese - .- "
single dotg argparranged difrer- Zey Dreft irrenged for "OC opposites
ently. Zitper threading drafi can m

be used Zepending on effect, b | a - [ E—

Figure No.2 Arrange this for i . — T - g a
240 warp threeads. Divide 240 by o m—ﬁ&wﬁ_&“
50 threeds,one repeat, equals 4x. = e A e e v s B
Then take 4 threads for right sel- YIS M C— = iz e e TR
vage and four for end, equals 8 u PrSI——TE P w——"

threads,so we heve used 208threads. = ¥
The r£irst pattern block of the rep- S :
eat 1s of 2 threads,and have 32 14
threads to be used up.32-2 = 30, -

and # of 30 =~ 15. So after thread

selvage,begin 15 threads from B, Timgmg A A
or at C.So thread es follows,=- S-84Te 0.
Thread right selvage 1,2,3,4. -4 2y -Tert
Then C to 3B once - 15 . .
" A to D 4x 50 threads - 200 BAa
" At O - 17 — ;
r Le?t selvage 4,3,2,1 - 4 =
Total 240 = : o +2
Figure No.3 The draft at (A) is written o oe——— o s EL )
71th 2 threais “or each unit of the key M—— Tl = oo ==
dreft. The 1l%4's with the loops arsund e—— ————— e 3
them come as a result of going from 1 to - e =y L
4 in places where they are not wanted.
To avoid this meke the 1&2 and the 3%4 Pizure No,l Al
blocks with an odd number of threads es ey -D're:.’i ’
necesary,end the draft corrected is as at (B!. ‘
arrange this for 420 warp threads;- m
Thread rigat selvage 2,3,4,1 - 4 ( & 9=
Divide 420 by 88 = 4X, then 4x 88 - 352 T oY the fepeet only
plus 68 over. First block - 8 thresads, — ' ’ '
less the 2 selbages = 52;% of 52 = 28, : : ‘ — — o |
So begin to thread 26 threads from B or 1= , ——— : -
srom C to B - 26 :-a_.:_:_-_—_:__.::_ ":___—:_:5_—1:2["‘/
A toD=881x 4 352 e =  — 2 pm— v r—— gedy
AtoC = o G i —— ¥ ikt w— -
Threads for both selvages g == T ——— = R
T 220 -
o otal 420 Figure ¥o.Z (3)
| L. ) - —P A
P = = =
: ' : Ee—=—sa—u ke
== == -~ e 1—:': :__:A‘ o4
= vt e = = == et MU
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Page I,

™ug #e hevs savsral we 27 Writing X8y 2rets end actuel threading drafis for
thrse Zloz:Z -277=I38. = sombinaticng 27 the four hernesses can be used. The
pesizTz Tlc:tiZs mey be o7 anv degirecd size., Two wary threeds c:n be used for esch
passern bloax unist or four {f desired., Ther writing thrse block patieras witih
t¥c OFf Thes2 bDlocxs wr:sten on orposites,ani the third block to seperate these,
@s i~ Te<=srn No.III. cz Page 1, write th3 two blocks"on oprosites” with an odd
cumser of =-reads :n each pattern 2lock s zecesery,so as not to have to write
any t@o thr2aed blosks wrich wonld weave the third paslern block where 1t was not
warzed.

for Over-shot DraZ<sg, If the actuel pattern threading

Rule for “rizing Selvases

begins Wiz~ & warp thread on either harmess 1 or 3,write the selvage or harness
1,2,3, ané¢ 4. If 1t begins on harness 2 or 4, write the selvage threeding 2,3,4,
anéd 1. Of 2curse this is reversed for the le?t end selvage,

Rule ®or er-angine Acstuel Pattern Threading JTrafis for the loom.

Tet 2 to . -epresent toe complete threeding draft of one repeat, Let 4 to B be the
first pattson block of Ihis threading. Divide the totel number of werp threads by
AD, This zives thrhe numober of times AR will zo into the total. From the werp threads
lef* over suctract 8 threads for the first and last selvages, and also subtract

AB, t=e num-2r of threads in the first pattern block. Davide this result by 2.Then
let t-e di:z=zence from B, the end of the f£irst pattern block, to C be this number.

C is the fcint where the threading begims. This should not present any difficulty,
once it is undsrstood cleerly. Another important point 1s, do not use the key draft
to plen the arrangment of the threads to fi: the numbdber of required warp threads,
as the ac-::z) threading draft and the key é&rafts will vary,due to the fact that

gsorme patterz blocks of the actual threading draft mey have one thread more or less
then the un:izs of the k27 draft would indicate. This shculd clear up a zumber of
ques+ions I nave had atout the matter of selvages and arrangrents of loom threedings.

o

Below are w3 more patteras for three block key drafis. -
. Figure No.4
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Teattern blocks ere 1&2,2&3,and 3%4.
A toB is 2 threeds, A to B is 106,
Ar—ange *or warty of 720 threads.
Divide 720 by 100 = 7x plus 20 threads
Selvage S plus A3 or 2 equels 18.

% of 10 is' 5. So B to C equal S.

Rignt selvage 4 , themn C to B =5,then
4 %o D = 7x 100 is 700, & %0 C is 7,
and lef% selvage 4., Totel 720 threads.

Figure No.S5.

D
Fa— o o o o e Ty = o T :
p = P AN Tl v s e Ao Rl e e — ]
)
Pattern blo-xs are 3%4,3%2,and 1&2.
A to 3 is £ -nreads, A4 to D is 106. L=
Arrange for 240 threads. : :
Rigr+ selveze 4, C to B 18 7, : : —t
A tc D 2x 128 is 212, A to C 18 12, —t

ivage is 4. Total 239.To
use ur extre thread,put 2 in first j T
or last hecdile,
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